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A kitten typically weighs about 100 grams
at birth. After it is born, a healthy kitten
will gain between 7 and 15 grams of
weight every day. Which compound
inequality models the weight (w) in
grams of a healthy kitten (/) days after
its birth?

A.7d - 100 < w < 15d - 100
B. 100 - 7d < w <100 - 15d
C. 7d < w -100 < 154

D.7d < w + 100 < 154
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Admission to the state fair is $7, and each
ride costs $2. Emilie spent $13 on rides and
admission, Louis spent $17 on rides and
admission, and Monique spent $25 on rides
and admission. Given this information,
which statement is true?

A. Emilie went on 2 rides.
B. Monique went on 9 rides.
C. Louis went on 3 more rides than Emilie.

D. Monique went on 2 more rides than
Louis.
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The speed of Stephen's car is 14 mph slower
than that of John’s car. If the time taken by
John's car to travel 660 miles is equal to the
time taken by Stephen’s car to travel 70
fewer miles, what is the speed of both cars?

A. The speed of Stephen’s car is 118 mph
and John’s car is 132 mph.

B. The speed of Stephen’s car is 118 mph
and John's car is 104 mph.

C. The speed of Stephen’s car is 132 mph
and John's car is 146 mph.

D. The speed of Stephen’s car is 104 mph
and John’s car is 118 mph.
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Below is a graph of a system of linear
equations.

5 -4 /2 123 4%

What is the solution of the system?
A (-3,4)
B. (-2, 1)
C. (-1,5)

D. (1, -2)
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A graph of a system of linear equations is
shown.

What is the solution of the system?
A. (-6, 0)
B. (-3, 1)
C. (0,-3)

D. (1, -3)
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A system of equations is graphed on the
coordinate grid.

Which set of values is a solution for the
system of linear equations provided?

A (3,3)
B. (0, 0)
C. (0,2)

D. (-6, 0)
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At what point do the two equations,
2x — 4y =8and 3x + 6y =36,
intersect?

A (-8,2)
B.(2,8)
C. (82

D. (2, -8)
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The weather man says it is raining
everywhere on and north of the line
y =-x —2as shown on the chart.

Q2
|| Rain

Parker Street is perpendicular to the rain-
line and has a y~intercept of -5.5. If Mary is
traveling north-east on Parker Street, at
what point will she intercept the rain?
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What Is the value of y at which the lines
6x+ 2y =30and y = .5x + 1 intersect?

A 4
B. 3
C.2

D1
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What is the equation of a line that
passes through the point (1, 1) and is
parallel to the graph of the line

3x + 6y =77
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Study the graph.

In the graph, if the x-intercept is changed
to -4, and the slope remains unchanged,
how will the graph of the line change?

A. The new line will be the same as the
original line.

B. The new line will be parallel to the
original line.

C. The new line will intersect the original
line.

D. The new line will be perpendicular to the
original line.




image17.png
Two functions are defined as
7(x) :%+3and g(x)=x+3.
x-

Which of these tables can be used to find the
solution of the equation 7(x) = g (x)? Write
the solution.
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A system of inequalities is graphed in the
coordinate grid.

Which point is a solution to the system?
A (-3,3)

B. (-1, -3)

C. (1,0)

D. (3, 1)
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A system of inequalities is graphed In the
coordinate grid.

Which choice matches the system of
inequalities represented in the graph?
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A system of inequalities is graphed in the
coordinate grid.

Which point is a solution to the system?
A (-3,2)

B. (-1, -1)

C. (0,3)

D. (1, 1)
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A system of inequalities is graphed on the
coordinate plane.

Which system is represented in the
graph?

Ay <05x +3
X <-3

B.y>0.5x +3
x<-3

C.y<05x+3
x >3

D. y 205x +3

x> -3
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A system of inequalities is graphed on the
coordinate grid.

Which point is part of the solution set for
the system of inequalities represented in
the graph?

A (4,1
B.(3,3)
C. (-2,3)

D. (-1, 2)
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A company wants to purchase a magazine
printing press for $3000. It costs $0.15 to
print each magazine, and they sell each
copy for $1.75. Which inequality would be
most useful in determining how many
magazines must be sold in order to break
even?

A. 3000 > 1.75m - 0.15
B. 3000 > 1.75 - 0.15m
C. 3000 < (1.75 - 0.15)m

D. 3000 > (1.75m— 0.15)m
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Which point is a solution to this system of
linear inequalities?

ysx+4

2 +y <-4

A (-1,-3)
B. (-2,0)
C. (1,-2)

D. (2, 1)




image25.png
Study this system of equations.

y< -
y2 3x + 1

In which quadrant does the solution to
this system lie?

A1
B. II
C. III

D 1V
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The length of a rectangular picture frame
is 7 inches less than twice its width. The
area is 60 square inches. What is the
length of the frame?

A. 4 inches
B. 7.5 inches
C. 8 inches

D. 22 3 inches
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Study the system of equations.

x+7y <14
x =2y =10

Which ordered pair is a solution of this
system?

A (1,3)
B. (0, 3)
C. (1,3)

D. (3, 0)
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A system of equations Is graphed in the
coordinate grid.

c.yz—gxu
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wo equations are given.
y =3xandy = x +1

What values of y andx will satisfy both
equations?

A y=15x=05
B. y=3,x=1
C. y=05,x=15

D y=1,x=0
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1wo equations are given.

y= —8x+56
2x+2y =56

Which ordered pair will satisfy both
equations?

A. (-4, -24)
B. (-2,-12)
C. (2,12)

D. (4, 24)
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Jonhn and Julia work at a zoo and have to
carry food to the tiger cages. Each trip John
carries 40 pounds of food, and Julia carries
15 pounds from the food truck to the tigers.
Combined they took 17 trips to feed the
tigers and carried a total of 505 pounds of
food.

How many trips did John and Julia each take?
A. John took 4 trips, and Julia took 8 trips.

B. John took 10 trips, and Julia took 7 trips.
C. John took 12 trips, and Julia took 5 trips.

D. John took 15 trips, and Julia took 2 trips.
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Erica starts the year with $200 in her
savings account. She deposits another
$75 into it every month. Darrell starts the
year with $350 in his savings account. He
deposits another $50 into it every month.
Write and solve a system of equations to
determine after how many months x
Erica's and Darrell's savings accounts will
have the same balance y.

A. 2 months
B. 3 months
C. 6 months

D. 12 months
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Benjie and Sarah are stuffing envelopes
with the school newsletter to mail out to
the student body. Benjie has 1,400 more
envelopes to go, and he stuffs them at a
rate of 350 per hour. Sarah has 1,000
more envelopes to go, and she stuffs
them at a rate of 250 per hour. If they
start working at the same time, after how
long will they each have the same number
of envelopes left to stuff?

A. 1 hour
B. 2 hours
C. 3 hours

D. 4 hours
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Beth sells 12 rolls of wrapping paper for a
fundraiser. Rudy sells 9 rolls of wrapping
paper, earning $12 less than Beth. How
much does one roll of wrapping paper
cost?

A $2

B. $3

C. $4

D. 45
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Dominique sells 5 candles for a fundraiser.
Sofia sells 12 candles, earning $24.50
more than Dominique. How much does
one candle cost?

A. $3.00
B. $3.50
C. $4.00

D. $4.50
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Phyllis buys a television on a no-interest
monthly payment plan. The overall price
of the television is $350. She will pay $40
a month on it until it is paid off. Derrick
buys a $450 television with a similar
payment plan. He will pay $60 a month on
it until it is paid off. Write and solve a
system of equations to determine after
how many months x Phyllis and Derrick
will owe the same amount y.

A. 3 months
B. 5 months
C. 8 months

D. 10 months
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For which system of linear equations Is
(-4, 1) the solution?

A 3x-2y=-10 3x+5y=-7
B. 3x+2y=-5 Sx-y=9
C. 2x-7y=-15 5x+3y=23

D 2x+7y

1 3x—5y=-17
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A purse containing only nickels and dimes
has 45 total coins which total $3.75. What
system of equations would model this
situation?

A n+d=45

5n +10d =3.75
B. n+d =45

5n +10d =375
C. nd =45

5n +10d =3.75
D. nd =45

5n + 10d = 375
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How many solutions are there to this
system of linear equations?

y=3x-2
1
y=-x +3
A. no solutions
B. 1
C.2

D. infinitely many
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A cleaning service charges $17 per day
plus 9 cents per minute to clean a house.
Another service charges $23 per day plus
5 cents per minute to clean the same
house. How many minutes will have to be
worked for the cost of the first cleaning
service to equal the cost of the second
cleaning service?

A. 1500 minutes
B. 1000 minutes
C. 150 minutes

D. 100 minutes
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Derek has a total of 54 coins totaling
$8.90. All the coins are nickels and
quarters. How many nickels does Derek
have?

A. 34
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For what value of O does this system
have a solution of (-3, -6)?

y =4x +6

y =bx
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The sum of 2 numbers is 64, and their
difference is 14. What system of
equations would model this situation?
Ax+y=14

X -y =64
B. x +y =64

X -y =14

14
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= I

= &
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When solving a system of linear equations
algebraically, Meredith obtained 0 = 0. How
can Meredith interpret the results?

A. The solution to the system is (0, 0).

B. This result is impossible, therefore
Meredith made a mistake.

C. There is no solution to the system.

D. There are infinitely many solutions to the
system.
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It a solution to a linear system of
equations is no solution, then what must
be true about the graph of the system?

A. The lines are perpendicular.
B. The lines are parallel.
C. The lines coincide.

D. The lines intersect only at one point.
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The length of a rectangle is 5 more than
twice the width. If the perimeter of the
rectangle is 34, what is the length?

A 4
B. 9
c. 13

D 17
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For homework, Ranaall is solving the system
of linear equations in the box.

3x +4y =25

4x -7y =-16

Which strategy should Randall use to solve
this system of equations?

A. Solve the first equation for y, and
substitute the result into the second
equation.

B. Multiply the first equation by 4 and the
second equation by 7 to eliminate the
y variable.

C. Graph both equations on a coordinate
plane to determine if the lines are parallel
or perpendicular.

D. Multiply the first and second equation by
12 to eliminate the x variable.
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Given:

-y =1

X
{
x=y+2

What is x + y?

o o W >

5
3
2
1
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Felipe is solving this system of equations. He
got (4, 7) as his solution.

1.5x+2y=20
25x-5y=-25
Is Felipe correct?

A.

No, because the solution does not check
for both equations.

No, because the correct solution should
be (12, 11).

Yes, because he distributed correctly
when solving both equations.

Yes, because the solution checks for both
equations.
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For what value of a are the equations
3x+12y=-6and 6y = ax+ 9
perpendicular?

A. 26
B. 24
C. -12

D -15
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Which line is peraendicular to the graph of
the line, y = (Va)x + 72

A x-4y=8
B. x+4y=-12
C.4x-y=7

D.4x+ y=3
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On a city map, 5th Avenue is parallel to
Main Street. If Sth Avenue is represented
by the equation y = 2x - 3, what is the
equation representing Main Street if Main
Street passes through the point (5, 2)?

Ay=2x+1
B.y =2x-8
Coy=Lp42
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Line 77is graphed In the coordinate grid.

Which line, when graphed, will be parallel
ton?

A y=-2x-3
B. y=-(Va)x+2
C. y=(Va)x-2

D.y=2x+3
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Which is the equation of a line that passes
through the point (-2, 3) and
perpendicular to the line 4y — 2x = 8?

A y=-2x-1
B. y=-2x+1
C 1
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Which line is perpendicular to the line
Sy—2x=3?

A Sy-2x=6
B. S5y+2x=3
C.2y+5x=3

D. 2y—5x=3
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Which line is perpendicular to
y=-3x+2?

A 5 1
y=- )(+2

B 1
y=-3x+ 1
y=3x-=
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The sum of x and y numbers is 38. One
number, x, is 22 less than y. What is the
product of xand y?

A 38
B. 64
C. 240

D. 900
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A line passes through points (-3, 1) and
(2, -3). What is the slope of the line
perpendicular to the graph?

A m=5

B 4
5
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It two lines have the same slope but different
y -intercepts, what is true about the graphs
of the two lines?

A. The lines are parallel.

B. The lines are perpendicular.

C. The lines are the same.

D. The lines intersect in exactly one point.
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Which line is parallel to y = -3x— 77
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In figure LKL, which angle is a right
angle?
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A ticket to a street festival costs $5. It costs
an additional $3 for each game played. Jon
spent $26 on his ticket and games. Mandy
spent $29 on her ticket and games, and
Boson spent $14 on his ticket and games.
Given this information, which statement is
true?

A. Mandy played 8 games.
B. Jon played 8 games.

C. Mandy played twice as many games as
Boson.

D. Jon played 3 more games than Boson.
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A company wants to purchase a magazine
printing press for $3000. It costs $0.15 to
print each magazine. If they sell each
copy for $1.75, how many magazines do
they need to sell to break even?

A. 1578
B. 1715
C. 1875

D. 2041
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The Johnson family spent $36 on tickets
to a movie. An adult's ticket is $8 and a
child's ticket is $4. Mr. and Mrs. Johnson
were the only adults in the group. Write
and solve a linear equation to determine
how many children went to the movie
with the Johnson family.

A. 3 children went.
B. 4 children went.
C. 5 children went.

D. 6 children went.




